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\PIC{0}{200}{0}{200}{\path(40,40) (160,40) (100,160) (40,40)}
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N=VDEIIRE LW E EE, RO X IITT D,
\PIC[1]{0}{200}{0}{200}{\path(40,40) (160,40) (100,160) (40,40)}
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\PIC[r]{0}{200}{0}{200}{\path(40,40) (160,40) (100,160) (40,40)}
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\PIC[c]{0}{200}{0}{200}{\path(40,40) (160,40) (100,160) (40,40)}
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8.2.1 MZ&ELHEM

\PIC[r]{-150}{150}{-150}{150}{ A
\thicklines¥% #%& K< 95

\put (0,0) {\arc{300}{-0.524}{3.665}}% il % i <
\path(130,75) (0,0) (-130,75) % 5% % i <

\path(-130,75) (0,-75) % & Hi <

\put (-130,85) {\makebox (0,0) [b] {$A$}} B
\put (1,0, 10) {\makebox (0,0) [b]{$0$}}

\put (,10,-75) {\makebox (0,0) [1]1{$P$}}

\put (L0, -160) {\makebox (0,0) [t]{$B$}}

\thinlines% #%& Hi< 9%

\dashpath(0,0) (0,-150) % aft % i <

}

\arc DEFEEXF : \arc{EREHHAAI{E T A

72720, AIXTZ YT (r=31415 L L TH X 5) T, z iOED A GREHRI D IZIEN5 DT, HET
5L,

b,t,r,l DFEME : b= bottom, t = top, r = right, | = left

8.2.2 M LEHLK

\PIC[r]{-400}{400}{-400}{430}{
\thicklines

\path(-300,0) (300,0)

\circle{600}

\circle*{10}

\path(200,201) (200,-201)

\put (200,201){\circle{402}}

\put (200,201){\circle*{10}}
\path(20,298) (276,19)%

\put (-330, 0) {\makebox (0,0) [r]{A}}
\put (285, 0) {\makebox (0,0) [1t]1{B}}
\put (0,-10) {\makebox (0,0) [t]1{0}} G
\put (210,201) {\makebox (0,0) [1b]{C}}

\put (280, 30) {\makebox (0,0) [1b]{E}}

\put (20, 305) {\makebox (0,0) [rb]{F}}

\put (190, 100) {\makebox (0,0) [rt]1{M}}

\put (190,-10) {\makebox (0,0) [rt]1{D}}

\put (210,-201) {\makebox (0,0) [1t]1{G}}
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8.2.3 1WRDOH &L L TRCIBNZEROD—ER

\COORDINATE [r]{-200}{400}{-300}{300}{
\thicklinesl #t% K< 32
\path(-10,-110) (-200,-300) %, FEHR D =
\put (0,-100) {\circle{203}}%,H

\put (0,0) {\circle*{20}}% L

\path(207,107) (400,300) % KD A1

\put (200, 100) {\circle{20}}%, A
\thinlines¥ # % i< 32

\dashpath (200,0) (200,100) (0, 100) % st % 5| <
\put (10,-100) {\makebox (0,0) [1]1{$-1$}}

\put (=10, 100) {\makebox (0,0) [r]1{$1$}}

\put (200,-10) {\makebox (0,0) [t]{$2$}}

H

8.2.4 #HBXH

\PIC[r]{0}{400}{0}{400}{
\thicklines¥ % K< 75

\path(0,0) (400,0) (200,346) (0,0)
\path(200,0) (300,173) (100,173) (200,0)
\path(250,86) (200,173) (150,86) (250, 86)
H*

8.2.5 ¥
BAEOETELI EOLNDIEFITRD L ST D EMEIZEIT 5,

\PIC[r]{0}{500}{0}{160}{

\multiput (0,0) (0,40){5}{\1ine,(1,0){360}}
\multiput(0,0) (60,0){7}{\1line,,(0,1){160}}
\put (-10,,,0) {\makebox (0,0) [rb] {A}}

\put (370, 160) {\makebox (0,0) [1t]1{B}}

\put (150, ,40) {\makebox (0, 0) L, {P}}

H>

\multiput ZEDLRVONEEZD, £HTDHERDEHIITRD,

\PIC[r]{0}{500}{0}{160}{

\put (0,,,0){\1ine (1,0){360}}
\put (0,.,40){\1ine,(1,0){360}}
\put (0,,80){\1line,(1,0){360}}
\put (0,120){\1ine,(1,0){360}}
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\put (0,160){\1line,(1,0){360}}

\put (.,,0,0){\1ine,(0,1){160}}

\put (,60,0){\1ine,(0,1){160}}

\put (120,0){\1ine,(0,1){160}}

\put (180,0){\1ine,(0,1){160}}

\put (240,0){\1ine,(0,1){160}}

\put (300,0){\Line,,(0,1) {160} }

\put (360,0){\1ine,(0,1) {160}}

\put (-10,,,0) {\makebox (0,0) [rb]{A}}
\put (370, 160) {\makebox (0,0) [1t]1{B}}
\put (150, ,40) {\makebox (0, 0) L {P}}
H>

\path % i~ T HEX 25 & bk,

\PIC[r]{0}{500}{0}{160}{
\path(0,0) (360,0) (360,160) (0,160) (0,0)
\path(0,40) (360,40)

\path(0,80) (360,80)

\path(0,120) (360,120)

\path(0,160) (360,160)

\path(60,0) (60,160)

\path(120,0) (120,160)

\path(180,0) (180,160)

\path(240,0) (240,160)

\path(300,0) (300,160)

\path(360,0) (360,160)

\put (-10,,,0) {\makebox (0,0) [rb]{A}}
\put (370, 160) {\makebox (0,0) [1t]1{B}}
\put (150, ,40) {\makebox (0, 0) L, {P}}
H?
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